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NEW QUESTION 1
What are three well-known mandatory BGP attributes? (Choose three.)

A. next hop
B. origin

C. community
D. MED

E. AS path

Answer: ABE

NEW QUESTION 2
Which statement is correct about the FE80;:/10 prefix?

A. This prefix range is used for the link local address.

B. This prefix range is used on the loopback interface.

C. This prefix range is reserved for multicast applications
D. This prefix range is not reserved.

Answer: A

NEW QUESTION 3
How does a Junos device learn about MAC addresses when Il is first connected to an Ethernet LAN?

A. The device sends out a network broadcast message asking tor all devices and MAC addresses on the network and stores this information In addition lo the
interface from which the response was received.

B. The device learns the destination MAC addresses from traffic in the network and stores this MAC address in addition to the interface from which the traffic was
received.

C. The device learns the source MAC addresses from traffic in the network and stores this MAC address in addition to the interface from which the traffic was
received.

D. The device sends out a network multicast message asking for all devices and MAC addresses on the network and stores this Information in addition to the
interface from which the response was received.

Answer: D

NEW QUESTION 4
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ISPC
AS 65503
- 2 0
o et
ISP A ISP B
AS 65501 AS 65502
Y o r
w“ S
BL. %= g
6\@{; » . | Advertised Prefixes: ’ @g‘q
2N 1722000016 [0 €
A Ny
b £
R1: local preference = 100 - R2: local preference = 200
- IBGP
R3
AS 65512

You are advertising a summary route that represents your local network (172.20.0.0716) to both ISP A and ISPB. You want to influence all traffic sent to you from
ISP C to go through R2.
How would you accomplish this task?

A. On R1, prepend your AS number three times on the 172.20.0.0/16 route when advertising It to ISP 1.
B. On R1, change the local preference value to 250.

C. On R2. prepend your AS number three times on the 172.20.0.0/16 route when advertising it to ISP 2.
D. On R2, change the local preference value to 50.

Answer: B

NEW QUESTION 5
Exhibit

Passing Certification Exams Made Easy visit - https://lwww.2PassEasy.com



Welcome to download the Newest 2passeasy JNO-363 dumps

@ 2 P QsseaQs ":J https://www.2passeasy.com/dumps/INO-363/ (65 New Questions)

redit]

= & = f -

uzer@rcuter¥ show interfaces ge-J3/70/0

farily bridge |

incerface-mode Trunk;

vian-id-list l9.-120;
J
fedit]
uzzerfPrcuter¥ show interfaces g=-4/0/1
flexikle-vlian-tagging;

]

wvilan-id 200
farily boridas {
interface-mode trunk;

inner-gylan-id-1:e«s 101-123;

I
M
L
T ol
3]
0
c
it
im
M
e
"
1!
I
=
m
L} ]
(=
Fi.
im
]
]
|'_I
5
J4H]
[
b
n

userBrouter$ show bEridge-domains

-

vlan-id-list 101-12C;
Referring to the exhibit, which two statements are correct? (Choose two.)
A. Traffic ingressing ge-0/0/0 that is tagged with VLAN 101 will egress ge-0/0/1 unchanged.

B. Traffic ingressing ge-0/0/0 that is tagged will VLAN 100 will be dropped.
C. Traffic ingressing ge0/0/0 that Is tagged with VLAN 200 will egress ge-0/0/1 with an outer VLAN tag of 200.

D. Traffic ingressing ge-0/0/0 that is tagged with VLAN 101 will egress ge-0/0M with an outer VLAN tag of 200.

Answer: AB

NEW QUESTION 6
Which two statements ate correct about the BGP next-hop attribute value? (Choose two.)

A. By default, the next-hop value is changed across IBGP links.
B. By default, the next-hop value is changed across EBGP links.
C. By default, the next-hop value is not changed across IBGP links.
D. By default, the next-hop value is not changed across EBGP links.

Answer: A

NEW QUESTION 7
Which two LSA types are permuted in OSPF totally stubby areas? (Choose two.)

A. Type 1
B. Type 3
C.Type 5
D. Type 7

Answer: CD

NEW QUESTION 8
What are three types of MPLS routers? (Choose three.)

A. transit routers

B. peering routers

C. egress routers

D. aggregation routers
E. ingress routers

Answer: ACE

NEW QUESTION 9
Exhibit
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You are asked to configure OSPF between routers R1 and R2 using IPv6 addresses. Which two tasks will accomplish your objective? (Choose two.)

A. Issue the sec protocols ospf area 0.0.0.0 interface ge-0/0/1.0 command.
B. Under the [edit routing-options] hierarchy, configure a 32-bit router ID.

C. issue the set protocols ospf3 area 0.0.0.0 interface ge-0/0/1.0 command.
D. Under the [edit routing-options] hierarchy, configure a 128-bit router ID.

Answer: AD

NEW QUESTION 10
The segment touting SRGB start label Is 10,000 and the SRGB index range is 500.
In this scenario, which two statements are correct? (Choose two.)

A. The first usable label is 10,001.
B. The last usable label is 10.501.
C. The last usable label is 10,499.
D. The first usable label Is 10,000.

Answer: CD

NEW QUESTION 10

Exhibit
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You have an established LSP between your R1 and R5 devices using the configuration shown in the exhibit. You are asked to ensure that MPLS labels are used

to forward traffic by all devices within the LSP.
Which action will accomplish this behavior?

A. Configure the ultimace-hop-popping statement under the R1_TO_RS5 label switched path on R1.
B. Configure the explicit-null statement under the protocol mpls hierarchy on R1.

C. Delete the no-espf statement under the R1_TO_RS5 label switched path on R1.

D. Configure the install statement under the R1_TO_RS5 label switched path on R1.

Answer: D
NEW QUESTION 15
Exhibit
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Referring to the exhibit, which two statements are correct? (Choose two.)
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A. Devices in AS 65512 will prefer ISP A for traffic destined to the 172.20.21.0/24 network.
B. Devices In AS 65512 will prefer ISP A for traffic destined to the 172.20.0.0/24 network.
C. Devices in AS 65512 will prefer ISP B for traffic destined to the 172.20.21.0/24 network.
D. Devices In AS 65512 will prefer ISP B for traffic destined to the 172.20.0.0/24 network.

Answer: C

NEW QUESTION 16

200

You want to see a detailed list of all established BGP sessions. In this scenario, what would be a valid command to accomplish this task?

A. show bgp neighbor

B. show bgp summary

C. show rouse receive-protocol bgp <neighbor IP address>
D. show rouse protocol bgp

Answer: D

NEW QUESTION 21
Which BGP attribute Is used to detect touting loops?

A. AS path

B. MED

C. local preference
D. next hop

Answer: A
NEW QUESTION 23
Exhibit
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Which type of load balancing is shown in the exhibit?
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A. elastic load balancing

B. per-packet load balancing
C. per-flow load balancing
D. network load balancing

Answer: D

NEW QUESTION 27
Exhibit.

edic routing=-options]
usarroutard show
AgJJregace

] .

edit routing-options
sger@routerd run show route protocol aggregat

&T . deacinations, sute=s (2 ACTive, holddown, 1 hiddan)

. destinatlo A ites (10 active, holddown, © hidden

edis routing-options

iserfrouterd run show route hidden

neT.,i 21 destinationa, 21 rourea (20 active, helddown, 1 hidden)
- Active Route, - Last Active, * Both
172.21.0.0/22 [Aggregate] Q0:12:0%

reject

inéTe.0: 10 destcinations, vouces (10 active, 0 holddown, O hiddaen -

Referring to the exhibit, you have configured an aggregate route that represents the 172.21.0.0/24, 172.21.1.0/24, and 172.21.2.0/24 networks. However, when

you view the routing table, your new route hidden.
Which action would you perform to determine the problem?

A. Verify that you have active contributing routes on the device.

B. Verify that you have configured a policy on the device to accept aggregate routes.
C. Verify that you have defined a metric value for the aggregate route.

D. Verify that you have set the preference to a lower default value.

Answer: D

NEW QUESTION 31
Exhibit
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You have configured graceful RE switchover (GRES), however you cannot complete the show system switchover command.

Referring to the exhibit, what is the problem?

A. The command is only available if non-stop routing is enabled.
B. The command is only available on the backup Routing Engine.
C. The command is only available If a backup router is configured.
D. The command is only available If graceful restart is enabled.

Answer: B

NEW QUESTION 34

Which two statements are correct about IS-1S? (Choose two.)

A. A level 1 only router can never form an adjacency with a level 2 only router.
B. For level 2 adjacencies, the area IDs can be different.

C. For level 2 adjacencies, the area IDs must be the same.
D. A level 1 only router can form an adjacency with a level 2 only router.
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Answer: CD

NEW QUESTION 35
Which statement describes integrated routing and bridging (IRB) interfaces?

A. An IRB interface Is an IP gateway For hosts of a bridge domain.
B. An IRB interface assigns interfaces to VLANS.

C. An IRB interface enables Layer 2 switching on the router.

D. An IRB interface defines a bridge domain.

Answer: C

NEW QUESTION 40

Which new field is added to an IPv6 header as compared lo IPv4?
A. version

B. checksum

C. fragment offset

D. flow label

Answer: D

NEW QUESTION 43

Interface ge-0/0/0.0 connecls yout network to your ISP. You want to advertise this interface address as an Internal route In OSPF without creating a neighbor with

your ISP.
In this scenario, how is this task accomplished?

A. Remove interface ge-0/0/0.0 from OSPF.

B. Create a generated route for Interface ge-0/0/0.0.
C. Add ge-0/0/0.0 as a passive interface In OSPF.
D. Configure a static route for Interface ge-0/0/0.0.

Answer: D

NEW QUESTION 44
Exhibit
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Referring to the exhibit, what will happen to untagged frames?

A. The untagged frames are dropped.

B. The untagged frames are load balanced between VLAN 10 and VLAN 20.
C. The untagged frames are associated with VLAN 10.

D. The untagged frames are associated with VLAN 20.

Answer: A

NEW QUESTION 49

You are deploying link aggregation groups.

A. By default, what are two considerations in this scenario? (Choose two.)
B. There should only be four member links per LAG.

C. All the ports must have the same speed.

D. Member links are required to be contiguous ports.

E. Member links can reside on different members within an MC-LAG.

Answer: BD

NEW QUESTION 50
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